

BID2025-64 FURNISH AND DELIVER OF SMITH-BLAIR FULL CIRCLE BANDS, COUPLINGS TAPPED-OUT SLEEVE MATERIALS IN THE REQUESTED QUANTITIES FOR A PERIOD OF ONE (1) YEAR BID OPENING DATE JULY 16, 2025, AT 11:00AM

BID2025-64 FURNISH AND DELIVER OF SMITH-BLAIR FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE MATERIALS IN THE REQUESTED QUANTITIES ON AN AS NEEDED FOR THE DEPARTMENT OF WATER AND SEWER, TRENTON WATER WORKS A PERIOD OF ONE (1) YEAR BID OPENING DATE JULY 16, 2025, AT 11:00AM		
NUMBER OF BIDS SUBMITTED	2	
NAME OF PROPOSER	FERGUSON WATERWORKS	RARITAN GROUP INC
ADDRESS	507 OAK GLEN ROAD	301 MEADOW RD
CITY, STATE, ZIP	HOWELL NJ 07731	EDISION, NJ 08030
CONTACT NAME	JOHN MASTROGIOVANNI	JAMES F RICHARDSON
TELEPHONE	848 992 2132	732 985 5000
FAX	732 202 5707	732 985 5002
E-MAIL	JOHN.MASTROGIOVANNI@FERGUSON.COM	MIRO@RARITANGROUP.COM
INTENT TO USE A SUB-CONTRACTOR	YES	YES
PROVIDE A LIST OF SUB-CONTRACTORS' COPIES OF LICENSES SUBMITTED WITH A BID	N/A	N/A
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED
CITY OF TRENTON ACKNOWLEDGMENT OF RECEIPT OF ADDENDA (IF ANY)	N/A	N/A
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS	INCLUDED	INCLUDED
DEBARMENT NOTICE	INCLUDED	INCLUDED
CERTIFICATION OF NON-DEBARMENT FOR FEDERAL GOVERNMENT CONTRACTS	INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED
CITY OF TRENTON ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990	INCLUDED	INCLUDED
EQUAL EMPLOYMENT OPPORTUNITY LANGUAGE (EXHIBIT A)	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE (PRIOR TO AWARD)	INCLUDED	INCLUDED
EIC (EMPLOYEE INFORMATION CERTIFICATE)	CERT#33467 EXP#01/15/2026	CERT#39661 EXP#04/15/2027
DISCLOSURE OF INVESTMENT ACTIVITIES IN IRAN	INCLUDED	INCLUDED
CERTIFICATION OF NON-INVOLVEMENT IN PROHIBITED ACTIVITIES IN RUSSIA OR BELARUS	INCLUDED	INCLUDED
GRAND TOTAL AMOUNT (SEE ATTACHED BREAKDOWN OF UNIT PRICING)	\$84,857.91	\$85,427.25
60-DAY EXTENSION COMPLIANCE	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES
EXCEPTIONS	NONE	YES, SEE ATTACHED
THREE (3) REFERENCES	YES	YES
FATAL FLAW	NONE	NONE

FERGUSON Water Works

Trenton Water Works Construction & Maintenance Office

Calendar Year 2025 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

PROPOSAL:

The undersigned proposes to furnish and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	50	62.89	3,144.50
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	12	124.31	1,491.72
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	12	166.95	2,003.40
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	80	74.21	5,936.80
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	12	137.94	1,655.28
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	12	199.87	2,398.44
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	50	88.78	4,439.00
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	10	142.16	1,421.60
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	10	169.40	1,694.00
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	10	234.68	2,346.80
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	6	211.53	1,269.18
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	20	108.05	2,161.00
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	282.81	1,131.24
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	12	121.88	1,462.56
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	243.74	1,462.44
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	4	686.71	2,746.84
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	30	85.87	2,576.10
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	60	120.70	7,242.00
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	20	176.63	3,532.60
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	256.34	2,563.40
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	10	285.44	2,854.40

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
------	-----------	----------------------	------	-----	------------	-------------

**Trenton Water Works
Construction & Maintenance Office**

Raritan Group INC

Trenton Water Works Construction & Maintenance Office

Calendar Year 2025 – Full Circle Bands, Couplings & Tapped Out Sleeves Contract

PROPOSAL:

The undersigned proposes to furnish and deliver Smith-Blair Full Circle Bands, Couplings & Tapped-Out Sleeve materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ.

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	226-048007-000	4" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	50	103.31	3,1105.50
2	226-048015-000	4" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	12	125.15	1,501.80
3	226-048020-000	4" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 4.74" - 5.14")	each	12	108.07	1,296.84
4	226-069007-000	6" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	80	74.71	5,976.80
5	226-069015-000	6" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	12	138.87	1,666.44
6	226-069020-000	6" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 6.84" - 7.24")	each	12	201.21	2,414.52
7	226-090507-000	8" x 7- 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	50	89.37	4,468.50
8	226-090512-000	8" x 12-1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	10	143.11	1,431.10
9	226-090515-000	8 X 15 - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	10	170.53	1,705.30
10	226-090520-000	8" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 8.99" - 9.39")	each	10	236.25	2,362.50
11	226-111015-000	10" x 15" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	6	212.94	1,277.04
12	226-111007-000	10" x 7 1/2" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	20	108.78	2,175.60
13	226-111020-000	10" x 20" - 226 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 11.04" - 11.44")	each	4	284.70	1,138.80
14	226-132007-000	12" x 7- 1/2" 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	12	122.69	1,472.28
15	226-132015-000	12" x 15" - 226 Full Circle Band - Smith & Blair (OD: 13.10" - 13.50")	each	6	245.37	1,472.22
16	228-20171520-000	16" x 20" - 228 Full Circle Repair Clamp Single Band - Smith & Blair (OD: 17.15." - 17.90")	each	4	1091.50	2,760.00
17	441-00000510-900	4" Coupling - 441 Smith & Blair (OD: 4.80" - 5.10")	each	30	810.45	2,593.50
18	441-00000722-900	6" Coupling - 441 Smith & Blair (OD: 6.90" - 7.22")	each	60	121.51	7,290.60
19	441-09450800-900	8" Coupling - 441 Smith & Blair (OD: 9.05" - 9.45")	each	20	177.81	3,556.20
20	441-11601000-900	10" Coupling - 441 Smith & Blair (OD: 11.10" - 11.60")	each	10	258.08	2,580.80
21	441-00001350-900	12" Coupling - 441 Smith & Blair (OD: 13.20" - 13.50")	each	10	287.35	2,873.50

FULL CIRCLE BANDS, COUPLINGS & TAPPED-OUT SLEEVE CONTRACT QUOTE:

Item	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
------	-----------	----------------------	------	-----	------------	-------------

**Trenton Water Works
Construction & Maintenance Office**

#							
22	441-00001780-900	16" Coupling - 441 Smith & Blair (OD: 17.40" - 17.80")	each	12	524.18	6,290.16	
23	411-216008-003	20" Coupling - 411 Smith & Blair (OD: 21.60")	each	2	734.20	1,468.40	
24	411-258008-003	24" Coupling - 411 Smith & Blair (OD: 25.80")	each	2	850.98	1,701.96	
25	411-00383008-003	36" Coupling - 411 Smith & Blair (OD: 38.30")	each	2	1,159.80	2,319.72	
26	411-00508015-003	48" Coupling - 411 Smith & Blair (OD: 50.80")	each	2	1,977.31	3,954.62	
27	238-048007-007	4" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	93.55	1,122.00	
28	238-048007-009	4" x 7 1/2" 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 4.74" - 5.14")	each	12	93.55	1,122.00	
29	238-069007-007	6" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	25	104.95	2,623.75	
30	238-069007-009	6" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 6.84" - 7.24")	each	12	104.95	1,259.40	
31	238-090507-007	8" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	10	119.03	1,190.30	
32	238-090507-009	8" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 8.99" - 9.39")	each	10	119.03	1,190.30	
32	238-111007-007	10" x 7 1/2" w 3/4"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	139.03	834.18	
34	238-111007-009	10" x 7 1/2" w 1"cc Tapped Full Cir. Clamp - 238 Smith & Blair (OD: 11.04" - 11.44")	each	6	139.03	834.18	
35	239-127512-007	12" x 12-1/2" w 3/4"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	209.72	1,298.32	
36	239-127512-009	12" x 12-1/2" w 1"cc Tapped Full Cir. Clamp - 239 Smith & Blair (OD: 12.75" - 13.55")	each	6	209.72	1,298.32	
							Grand Total >> 85,427.25

**EXCEPTIONS
(IF NONE, PLEASE NOTE)**

not willing to extend pricing past (1) year without prior vendor approval..